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A rational function is a ratio of two polynomial functions.
N(x)

fx)= ) where N(x) and D(x) are polynomials. Nolc. Q“

_ . Plynomidls dre
NG)= numarch plynemiat 1T 0
rafionad fns.

Ex 1: Determine which of these functions are rational functions.
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Vertical Asymptotes of Simplified Rational Function
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Ex 2: Find the domain and the vertical asymptotes for these functions.
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Ex 3: Find the horizontal asymptotes of these functions.

2

[ b) f()=— 0 f)= 2
6S % goh '(4“ .“A Y=o
hua&, this L

behaves similar | AS ¥ g.;\s Supev
b 3x_32 ‘“‘3" £6) w2t

Xr X Muhq.ll% behatre
(nok' ‘Hr\in\aa Ll X
6 ‘HA(\- "2)(‘ 'Z.X

-0
= Super Sml\

|

P

DitA:



Ex 4: For each of these functions, determine the x and y-intercepts, vertical and
horizontal asymptotes and draw a quick sketch.

) f() = b) f()= 2 &) =t
VA %=1, x=-1 VA. nove

VA. x=0,%=

RA. Y= lM.'- Y=o RA: g--o

(nole: s 1 M‘.g"? (wole. Ahis s an 04

X KA 01'01.' e DO%




